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Directions £

i O the following 4 (four) items :
ead the followin .

the itemsg oy

th
answers tq at  follow

X € passages. Y
Ee g our
the Passageg Only ems should be based on

© Passages ang answer
th

) ] approach W :
€T Precincts, The ba kere “Mbased
Systemg theory ig th Ckbone

&l b of the
l‘oces
spatial and S of tra

» Optimization anqg

computing,
of formulating and solving

an algorithmic way
universities of the West w}’;:z:l::;;: l:: :::y
professionals in Planning, spawned some :f
the most ingenious planners, who were experts
in these domains. This was because these very
subjects were absorbed

into the Planning
curriculum that had its

roots in the social
sciences, geography and architecture, Planning

in India, and its education differ from the West.

1. Which one of the following statements
best reflects the most logical and
rational inference that can be made
from the above passage?

‘(@ Curriculum for urban planning
courses should have diverse and
interdisciplinary approach.

(-b) In India, city administratio;x ;ss
o under bureaucracy which lac

in
formal training in urban planning

and management.

KSPC-B-GSPT/61D

(c) In India, the management of urban
areas is a local affair with a chronic
problem of insufficient funds.

(d) With high density of population

and widespread poverty in our

1..\rban areas, planned development
in them is very difficult.

2. Based on the

above Passage, the

following assumptions have been made ;

1. India .Needs a new 8eneration
of urban Professionalg with
knowledge relevant tqo modern
urban practice,

2.

Indian universities at present have

no 'capacity or potential to impart

training in systems approach.
Wch of the assumptions given above
is/are correct?

(@ 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Passage—2

Not every voice on the internet commands
the same kind of audience. When anonymous
private entities with high capital can pay for
more space for their opinions, they | ?\r:l
effectively buying a louder voic'e. if potl:;c y
discourse in the digital spthi‘r; :\ ea e::ﬁon o
outshining one’s opponen 1

. e uffers. 1ne
: f politics S Th
n the quahty 0
won, then t
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PTOmotjq

ehga, COntent that generates more user
i t TeRardlegg
the content

of how innammatory
May pe

nowing statements
€ centra) idea of the
Ssage?

; a marketplace of
> SOC)al me

ia €nsureg instant
n'!mtion.

acces

€ Pprofitg,
Sa

dig ave beep Créateq to
ocracies.

. Wworlq, i .
INevitaple® for ol media are

“Informeq Social

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

S. 222333 4 333222 divisible by which of
the following numbers?

(@) 2 and 3 but not 37
(b) 3 and 37 but not 2

(c) 2 and 37 but not 3
(d) 2, 3 and 37

KSPC—B—GSPT/ 61D

6. What percent of water must be mixed

with honey so as to gain 20% by selling
the mixture at the cost price of honey?

(@ 20% (b) 10%
() 5% (d) 4%
7. What is the rightmost digit

preceding
the zeros in the value of 30305
(@ 1 (b) 3
() 7 (d) o

(@) 1

Nteger,
Possible? Tent Dot Zes are
(@ 3 ®) 4
(@ s @ 6
10 Consider the fo]lowing statemem
reéspect of the Sum S-=

K *x+y+2, Where
X, yand z are distinct pri
each less than 10 .

1,
2.

3.

The unit digit of § can be 0,
The unit digit of S can be 9,
The unit digit of S can be 5,

Which of the statements given above
are correct?

(@ 1 and 2 only

(b) 2 and 3 only

(0 1 and 3 only

(d 1,2 and 3

| P.T.O.
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Directions for the followin
Read the

the itemg
that
answers 1, follow

the i
the Passage Se items

g 4 (four) items :

the passages. Your
should be based on

S only,
s Passage-—l
“The history of s
mankind.” SClt:nCe i

n
nineteenth-ccntu

» and t
as some abstract thijrg

sometimes  be prajge d for
e > but frequentiy and convenj
blamed for the horrors of war, - Scien;:enﬂg
mankind cannot be divorced from time to t?rrrll
at men’s tfonvenience. Yet we have seef,
that, in spite of countl

: €SS opportunities of
improvement, the opening years of the present

period of civilization have been dominated by
international conflict. Is this the inevitable
result of the progress of science or does the
fault lie elsewhere?

beneficia]

11. Which of the following  is/are
: émphatically conveyed by the author of
‘the passage?
| 1. Without science, mankind could
g not have continued to exist till
today.
2. It is the science that will ultim.ately
determine the destiny of mankind.

i the
Select the correct answer using

code given below.
(@ 1 only

(b) 2 only

() “Both 1 and 2
(d) Neither 1 nor 2

KSPC-B-GSPT/61D

12. Based on the above passage, the
following assumptions have been made :

1. The horrors of modern life are

the inevitable result of the progress
of science.

2. The aspect of truth likely to be

overlooked is that science is what
man has made it,

Which of the assumptions given above
is/are correct?
(@ 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Passage—2

Only with long experience and opening of
his wares on many a beach where his language
is not spoken, will the merchant come to know
the worth of what he carries, and what is

parochial and what is universal in his choice.

Such delicate goods as justice, love and honour,
courtesy, and indeed all the things we care for,
are valid everywhere but they are variously
moulded and often differently handled, and
sometimes nearly unrecognizable if you meet
them in a foreign land, and the art of learning
fundamental common values is perhap.shtllc
greatest gain of travel to those who wish to

live at ease among their fellows.

eople while we
hen we meet other p :
. Wtravel we learn to differentiate between

(a) imagination and understanding

Y .
(b) communities and nationaliti

i lues
) local values and universal va
(c
(d) friends and foes

\P.T.O.
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14, .
r;tuho Teference to the above passage, the
1. .. 'Bassumptions have been made :
ra
of l:el leads to an understanding
Mang, '
l‘av
lea,_: helps thos
3. fun ¢ who wish to

a
;:1 Person mental common values,
tra With .
amg, . ! ¢ long  experience

n by
Which £ > Peope. “solve -differences

aSSum 2
ptlon .
(@) angd o on] S Biven above
y
®) 2 and 3
(C) rlly
1 an

3 on
(d) 1'2&nd3y

15. Let X be a

two-

digi ;
anoth . Bt ny .
interclir “wo-digit ny meb ST and y
is theangmg the digits of Xf°rm°d by
1
then whafn;: test O-digit f‘gxﬂ’
the number mber
values of xp °f possible
(@) 2
(b) 4
(c) 6
(d) 8

16. Consider the following :

Weight of 6 boys = Weight of 7 girls
= Weight of 3 men = Weight of 4 women

If the average weight of the women is
63 kg, then what is the average weight
of the boys?

(a 40 kg
(b) 42 kg
c) 45 kg
(d) 63 kg

KSPC-B—GSP’I‘/ 61D

17. How many times the hour hand and the

minute hand coincide in a clock between
10:00 am. and 2:00 p.m. (same day)?

(@) 3 times

(b) 4 times
(c) S times
(d) 6 times

18. The calendar for the year 2025is ¢
(@) 2029
(b) 2030
(c) 2031
(d) 2033

ame for

19, Lfat P, q r and s be distinct POsitiv
Integers. Let p, gbe odd an e

; dr, sbe e
Consider the following Statementg V o
1.

(P-r)2(gs) is even.

2. @-s)g?s is even.
3. (g+ T)z(p+s) is odd.

Which of the statements given above
are correct?

(@ 1 and 2 only
() 2 and 3 only
(€ 1and 3 only
(d 1,2 and 3

20. What is the angle between the minute
hand and hour hand when the clock
shows 4:25 hours?

(@) 12:5°
(b) 15°
© 175
(d 20°

\P.T.O.
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N

and Ag!'iculture
d Producedq for

wastage also results

by about 459, mainly g,
; e

unsustainable t

Addressing the loss and wastage of food in
all forms is critical to complete the cycle of food
sufficiency and food Sustainability.

21. Which of the following. statements best
reflect the most logical and rational
inferences that can be made from the

passage?
1. The current

for the loss and wastage of food.

2. Land productivity

affected by the prevailing trend of

food loss and wastage.

methods of food

distribution are solely responsible

is adversely

3. Reduction in the loss ang Wwastage
of food results in lesser carbon
footprint.

4. Post-harvest technologies to
prevent or redyce the loss and
wastage of food are not available

(@ 1,2 and 3
(b) 2 and 3 only
(0 1,3 and 4

(d) 1,2 and 4

22. Based _on  the above Passage, the
followmg assumptions have been made :

1. The food distribution mechanism
needs to be reimagined and made
effective to reduce the loss and
wastage of food.

2. Ensuring the reduction of wastage
and loss of food is a social and
moral responsibility of all citizens.

Which of the assumptions given above
is/are valid?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

|P1O.
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Passage—»

help produce moqg
to maintain stable
to borrow, gOVemm
or raise taxes,

fisca) Austerity, because
debtg While Paying more
Witints must oyt Spending
» out the fisca] backup
monetary policy eventually loses jon,
Higher interest rateg b aty

€Come inﬂation
disinflationary, becausge they ary, not
ents to bo SImply  Jeaq
Bovertl TTOW more to pay rising

debt-service costs, The risk of
unmooring is greater when
because interest rates beco

me more
to budget deficits.

important

23. Which of the following Statements begt
reflects/reflect the most logical ang
rational inference/inferences that can
be made from the passage?

1. Central banks cannot bring
down inflation without budgetary
backing.

2. The effects of monetary policy
depend on the fiscal policies
pursued by the government.

Select the correct answer using the
code given below.

(@) 1 only
(6) 2 only
) Both 1 and 2

(d) Neither 1 nor 2

KSPC-B Gspr/6 1D

24. Based on the above .passage, the
following assumptions have been made :

1. Fiscal policies of governments are
solely responsible for higher prices.

2. Higher prices do not affect the
long-term government bonds,

Which of the assumptions given above
is/are valid?

(@ 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

25. What is the least possible number of

cuts required to cut a cube into 64
identical pieces?

(a) 8
(®) 9 ?
€ 12

(d) 16

26. In the expression 5% 4 x 3 x2x 1,

* is chosen from +, —, x each at most
two times. What is the smallest non-
negative value of the expression?

(@) 3

(b) 2

(c) 1

(d) O

\P.T.O.
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27. A Certain numbpe

r of men can complete
TK in 6k days, where k is

Umber. By what percent

¢ Numper of men be increased
so thay the
Sk dayys

& piece of wo
Naty,

ral p
shou)d

Work can be completed in

(@) 10,

®) (50 /3y,

(€) 20,

(d) 250,

individuany in

(@) 6 hours 15 minutes
(b) 6 hours 30 minutes
(c) 6‘ hours 45 minutes

(d) 7 hours

KSPC—B-GSPrlsm

29. Yow many consecutive Zcros are there

at the end of the integer obtain,

ed in the
product 12 x 94 y 36

X4% x...x 2550+
(@) 50

(b) 55

() 100

d) 200

30. op January 1st, 2023, 5 Person Saved
¥ 1. On January 2nd, 2023, he saved
¥2 more than that on the Previous g
On January 34 2023,
¥2 more than that ¢

and gq on. At the end of which date
was hig total Savin

88 a perfect SQuare
cube?

ay.
€ saveq
n the Previoug day

as well g perfect
(@ 7th January, 2023
(b) 8th January. 2023

(c) OSth January, 2023

(d) Not possible

|PTO.
15
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your

answers to these items should be based on
the Passages only.

B¢ range of 1
1S years. But in our country 3 years to

abouta
all children in class 8 stru quarter of

Every year about 25 million young boys ang
girls from elementary scho
that lies for them beyond compulso

Ty schooling,
They cannot enter the workforce

at least in

the organized sector till they are 18. For many |

families, these children are the first from their

families ever to get this far in school. Parents

and children expect that such ‘graduates’ from

school will go on to high school and college.
Hardly anyone wants to go back to agriculture.
On the other hand, abilities in terms of
academic competencies are far lower than

they should be even based on curricular
expectations of class 8.

31. Based on the above passage, the
following assumptions have been made :

l. For éffective school education,
parents have greater role than the
governments.

2. School curriculum that conform_s
to today’s requirements and. 1S
uniform for the entire country may
address the issues brought out.

KSPC-B-GSPT/61D

17

Which of the assumptions given above
is/are valid?

(@ 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

32. Which one of the following statements
best reflects the central idea conveyed
by the passage?

(a) Total eradication of poverty in the
country will resolve the issue of

under-performance of our school-
children.
(b) Monetary incentives to parents
and teachers is a strategy to

improve the children’s academic
performance.

(c) Public policy should ensure that

competencies and achievements of

young people are aligned with their
€xpectations.

(d) India is not going to take advantage

of the demographic dividend unless

some school pass-outs go back to
agriculture.

Passage—2

We take it for granted now that science has

a social responsibility. The idea would not
have occurred to Newton or Galileo. They
thought of science as an account of the world
as it is, and the only responsibility that t.hey
acknowledged was to tell the truth. The idea
that science is a social enterprise is modem,
and it begins at the industrial revolutm:l
We are surprised that we cannot trace a socl

[P.T.0.
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e we nurse the
ded

sense further back, becaus :
illusion that the industrial revolution en

a golden age.

33. Which one of the following statements
best reflects the thinking of the author
about the science?

(a) Science must value the
commitment of the scientists.

(b) Scic?nce is a product of civilized
society and must be used for the

.promotlon of scientific awareness
in people. '

(c) Industrial revolution was made

po'ssible by the advancements in
science.

(d) Science must pursue truth: but be
responsible for social welfare,

34. Consider the sequence
A_BCD _BBCDABC _ DABC _ D

that follows a certain pattern. Which
one of the following completes the
sequence?

(@ B, A, D,C
(b) B, A, C, D
(¢ A, A, C, D
(d A, A, D, C

35. Two persons P and Q enfcr into
a business. P puts 14,000 more

than Q, but P has invested for 8 months
and Q has invested for 10 months. If P’s
share is #400 more than Q’s share out
of the total profit of 2,000, what is
the capital contributed by P?

(@) ¥30,000

(b) 26,000

(c) ¥24,000

(d) 20,000

KSPC—B-GSPT/ 61D

36, P's salaty

37. A number is

38. In an examination, 80%

is 20% lower than Cﬁ a:;lag
which is 20% lower t.han R's ;ary n:,ore
now much percent 18 Rs s

than P’s salary?

(a) 48'750/0
(c) 60'500/0

(b) 56:25%
(d) 62:25%

mistakenly divided by .4
tiplying by 4. What is

i d of mu
aisics hange in the result

the percentage C
due to this mistake?

(@) 25% (b) 50%

“(c) 7275% (d) 93-75%
of students
passed in English, 70% of students
passed in Hindi and 15% failed in both
the subjects. What is the percentage of
students who failed in only one subject?
(a) 15% (b) 20%

(c) 25% (d) 35%

39. A father said to his son, “n years back

I was as old as you are now. My present
age is four times your age n years back”.
If the sum of the present ages of the
father and the son is 130 years, what
is the difference of their ages?

(@) 30 years
(b) 32 years
(c) 34 years
(d) 36 years
40. Consider the following :
1. 1000 litres = 1m3
2. 1 metric ton = 1000 kg
3. 1 hectare = 10000 m?
Which of the above are correct?
(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

[ P.T.0.
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Directions for the following 3 (three) items :

Read the following three passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

When an international team of scientists
pumped a carbon dioxide and water mix into
underground basalt rocks, basic chemistry took
over. The acidic mixture dissolved rocks’
calcium and magnesium and formed limestone.
Basically carbon dioxide is converted into

stone, exclaimed the scientists.

41. Which one of the following statements
best reflects the most logical, rational
and practical suggestion implied by the
passage?

(a) It is a cheap and practical method .‘

to produce limestone at commercial
level for building purposes.

(b) This can be used as one of the
methods of carbon sequestration.

(c) Basalt rock can be made a good
source of calcium and magnesium
minerals by this method.

(d) Good rock-dissolving acid can be
produced by mixing carbon dioxide
and water.

21

Passage—2

Geographers analyzed 175 satellite images
of ocean colour, which is an indicator of
phytoplankton productivity at the ocean’s
surface, and found that giant icebergs are
responsible for storing up to 20 percent of
carbon in the Southern Ocean. The researchers
discovered that melting water from giant
icebergs which contains iron and other
nutrients, supports hitherto unexpectedly high
levels of phytoplankton growth.

42, Based on the above passage, the
following assumptions have been made :

1. Giant icebergs have a bearing
on primary productivity and food
chains of the Southern Ocean.

2. Melting of giant icebergs can
produce climate change effects and
impact world fisheries.

Which of the assumptions given above
is/are valid?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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Passage—3 _
EVOI :
Wiy d caterpillars that feed
a unj ™ .
the plant to t 'que ability, they can induce

Predatorg. Thurn off its defence against insect

is i
and grow fasterf]e’;ps Caterpillars to eat more
effect is the ca

terpiuae’ 98ent that causes this
Could throw hew lightrc,snfae""s or frass. The find
. m .
With plax'lt Tesponse ¢, atImunds associated
or bacteria. O8ens like fungi

has endowe

43. Which one of

the
best reflects the
and Practicg) me
passage?

f .
ollomng Statementsg

al, rationg]

aterpillars ¢,

eds in their Crop fields/

Plantations,

clo Clinically
. antimicrobia] Compounds,

(c) This finding can help
development of organic, eco
sustainable pesticides.

(d) Caterpillars can be genetically
modified to be predators of the
other plant pests.

in  the
logically

44. 325 +227 js divisible by
(@ 3
(c) 10

(b) 7
@ 11

45, Let p and q be positive integers satisfying

p<qgand p+q=k. What is the smallest

ine
value of k that does not determin

p and g uniquely?

© s 4 o
KSPC-B-GSPT/61D

46. A person walks 100 m straight from hig
house, turns left ang walks 100 m,
again turns left and walks 300 m, then
turns right and walks 100 m to reach
his office. In which direction doeg he
walk initially from hig house if hjg office
is exactly in the North-East direction?
(@) North-West
(b) West
(c) South
(d) South-West

47. A person walks 100 m Westward, then
turns left and walks 1

00 m. He then
takes 225° turn clockwise. In which

direction is he walking now?
(@) South-West

(b) South-East
(c) North-West
(d) North-East

48. A Statement is given followed by
two Conclusions numbered I and 1II.

Consider the Statement and the
Conclusions.
Statement :

India is the world’s largest

producer of milk.
Conclusion-I :

India is the world’s largest exporter
of milk.

Conclusion-II :
India does not import milk.
Which one of the following is correct?
(@) Only Conclusion-1 follows
(b) Only Conclusion-1i fo\\ows\ L
(c) Both Conclusion-1 and Conclu

follow

. jon-l mor
(d) Neither Concmcs:)nclus'\on—\l follows

\P,T.O.
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9. A Question is given followed by two
Statements 1| and 1I.

Question and the State

50.
Consider the
ments.

'Statement—l :
M+n>mn and m>n.

Statement-y .

The Product of m ang n is 24,

Which one of the following is correct

in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both  the Statements
together, but cannot be answered
using either Statement alone

d
(d) The Question cannot be answere

ts
even by using both the Statemen

together

25
\PC-B-GSPT/61D

A Question is given followed by two
-Statements I and 1II.

Question and the Statements.

Consider the

Question :

What is the time required t

(o)
download the software?

Statement-] :

The size of the

software isg
12 megabytes.

Statement-II :

The transfer rate is 2-4 kilobytes
per second.

Which one of the following is correct

in respect of the above Question and
the Statements?

(@) The-Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone °

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

d
(d) The Question cannot be answe:rets
even by using both the Statemen

together

\P.’Y.O.
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Directions for the following 2 (two) items :

Read the following two passages and answer
the items that follow the passages. Your

answers to these items should be based on
the passages only.

Passage—1

Unlike religion and science, poetry does not
posit or expect any belief in absolute truths.
Those forces or individuals who claim to have
absolute truths in their grasp tend to turn
dictatorial and tyrannical. Truth usually does
not admit any contradictions or imperfections.
It is unitarian. It is, therefore, not of much use
for poetry. Poetry abides by the plurality of
life and existence. Perhaps poetry follows
reality which is plural, anachronistic, full of
contradictions. Against the tyranny of truth,
poetry remains a partisan of democratic reality.
Against the arrogance of power, wealth and
hierarchy, poetry proposes both humility and
defiance.

51. Which one of the following statements
best reflects the most logical and
rational message conveyed by the above
passage?

(a) 1t is the poetry, not science or
religion, which recognizes and
accepts imperfections in humans.

(b) Truth is revealed through science
or religion and poetry is anathema
to truth.

(c) Poetry is romantic, imaginary- and
is about feeling whereas science
and religion are about truth.

(d) In a world of violence, tyranny an.d
bigotry, poetry is a form of dynamic

resistance.

Passage—2

The flower was not invented to please us. It
flaunted its petals and spread its perfume to
attract an insect. The insect carries the pollen
from flower to flower so that pollen is not
carried away by wind and thus not wasted.
What we call a flower’s beauty is merely
a by-product and a human invention. The
perfume is not there to please us, it pleases

us because it is there and we have been
conditioned to it.

52. Based on the above passage, the

following assumptions have been made :

1. The author of the passage believes
that flowers are creations of
Nature’s luxury.

2. The author of the passage does not
believe in the usefulness of flowers
except as things of ‘beauty.

Which of the assumptions given above

is/are valid?

(@) 1 only
(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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given followed by two

53. A Question is
Consider the

Statements 1 and IL
Question and the Statements.

Age of each of P and Q is less than
100 years but more than 10 years.
If you interchange the digits of the
age of P, the number represents the
age of Q.

Question :

What is the difference of their ages?

Statement-I :
The age of P is greater than the
age of Q.

Statement-II :

The sum of their ages is 11/6 times
their difference.

Which one of the following is correct
in respect of the above Question and

the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the

other Statement alone

(b)) The Question can be answered by
using either Statement alone

(c) The Question can be answered by

54.

55. If a+b means

ement is followed by four

A Main Stat
Statements labelled P, O, R and S
Choose the ordered pair of the
Statements where the first Statement
implies the second, and the two

Statements are logically consistent with

the Main Statement.

Main Statement :

Pradeep becomes either a Director

or a Producer.
Statement P : Pradeep is a Director.

Statement O : Pradeep is a Producer.

Statement R : Pradeep is not a Director.
Statement S : Pradeep is not a Producer.

Select the correct answer.

(a) SP only
(b)
(c)

(@)

RQ only
Both SP and RQ

Neither SP nor RQ

a-b, a-b means
axb, axb means a+b, a+b means
a+b, then what is the value of
10+ 30-100x 50 +25? (Operations are
to be replaced simultaneously)

using both  the  Statements
together, but cannot be answered (@ 15
using either Statement alone (b) 0
(d) The Question cannot be answered © -15
even by using both the Statements
together (d) -25
KSPC-B-GSPT/61D 29
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2. If x(Q)2y and Y(R)z, then Xx(Rz.

Which of the state
1s/are correct?

(@ 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

57. If in a certain code, ‘ABCD’ is written as
24 and ‘EFGH’ is written as 1680, then
how is TJKL’ written in that code?

(@) 11880
(b) 11240
(c) 7920

(d) 5940

KSPC—B—GSPI‘I 61D

59.

(b) AANREA

() AANEAR

(d) AANERA
What will come in place of * in the
Sequence 3, 14, 39, 84, *, 2587

(@ 150

(b) 155

(c) 160

(d) 176

60. In some code, letters P, Q, R, S, T

represent numbers 4, 5, 10, 12, 15.
It is not known which letter represents
which number. If Q-S=2S and
T =R+S+ 3, then what is the value of

P+R-T?
(@ 1
(b) 2
(c) 3

(d) Cannot be determined due to
insufficient data

(P.T.0.
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61. Which of the following statements best
reflects/reflect the most logical and
rational inference/inferences that can
be made from the passage?

1. In conventional classroom learning,
the central goal is duration of
learning rather than attainment of

competency.
2. Conventional classrooms encourage

one-size-fits-all . - approach and
stamp out all differentiation.

KSPC—B—GSPTI 61D
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Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

62. Based on the above passage, the
following assumptions have been made :

1. As a large number of workers in

our country are employed in
unorganized sector, India does not

need to change its present

conventional classroom system of
education.

Even with its present conventional
classroom system of education,
India produces sufficient number of
skilled workers to fully realize the
benefits of demographic dividend.

Which of the assumptions given above
is/are valid?

(@ 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Passage—2

When a child reaches adolescence, there is apt
to be a conflict between the parents and the
child, since the latter considers himself to be
by now quite capable of managing his own
affairs, while the former are filled with parental
solicitude, which is often a disguise for love
of power. Parents consider, usually, th.at th.e
various moral problems which arise in
adolescence are peculiarly their province.

The options they express, however, are so

|PT.0.

Scanned with CamScanner




dO;na;:d that the young seldom confide in
, usually go their own way in secret,
63. Based on the abov
?Ssumptions have been made :
- The adolescent does not feg]

Comfortab]e with  his parents

€cause they tenq t :
0 be dominat;
and assertive, ating

The adolescent 61‘

does not haye m
Parents,

Which of the ass
1s/are valid?

(@) 1 only

(b) 2 only

() Both 1 ang 2
(d) Neither 1 nor 5

€ passage, the following

modern times
uch respect for

umptions given above

64. Which one of the fo
best reflects the centr
passage?

(a) Parents in genera] may not be of
much help when children are on
their way to becoming adults,

(b) When children reach adolescence,
involvement of parents in their
lives is unnecessary.

() Modern-day nuclear families are
not capable of bringing up children
properly. A

(d) In modern societies, adolescents
tend to be stubborn, disobedient

and careless.

ov-ving Statements
alidea of the above

65. What is the number of fives used in

numbering a 260-page book?
(a) 55 (b) 56
(c) 57 (d) 60

66. What is the sum of the first 28 terms
in the following sequence?

112132143215432"
(a) 83 (b) 84
(c) 85 (d) 86
KSPC—B—GSP’I‘/ 61D

(@ 1,000
() ¥1,250

E den
:;s/t;;act digits, then what js the Valt.;::
(@ 9
(b) 8
(c) 7

(d) Cannot be determined dye to
insufficient data

‘69. Three numbers X, Y, Z are selected from
the set of the first seven natural numbers
such that x >2y> 32, How many such
distinct triplets (%, y z) are possible?
(@) One triplet

(b) Two triplets
(c) Three triplets
(d) Four triplets
70. The total cost of 4 oranges, 6 mangoes
and 8 apples is equal to twice the total

cost of 1 orange, 2 mangoes and 5 apples.
Consider the following statements :

1. The total cost of 3 oranges,
5 mangoes and 9 apples is equal
to the total cost of 4 oranges,
6 mangoes and 8 apples.

2. The total cost of one orange and one
mango is equal to the cost of one

apple. |
Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

\P.T.O.
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71. Which one of the following statements
best reflects the crux of the above

passage?

(a) Responsible media should not
distort the real in an ideal
democracy.

(b) Fake news seems inherent in the
life of an ideal democracy.

.(c) There should not be any kmclf
of restrictions on the freedom 0O
expression in an ideal democracy.

i litical
onsible media and poll

(d) lrresp be effectively

Now-a-days there is a & es. As
interconnected home€ geves
increasingly network,
connected home device

0
y ek to
service providers will s€

KSPC-B-GSPT/61D

profit margins by gathering more of our
personal data—with or without our agreement—
turning the home into a corporate storefront”,
Corporate marketers will have powerfu]

Incentives to observe consumer behaviour to

understand the buying needs and preferences
of the device owners.

72. Which one of the following statements
best reflects the most logical, rational

and practical message implied by the
passage? ‘

(@) Knowledge of consumer behaviour
leads to more capital expenditure
in manufacturing sector.

(b) 'Knowledge of consumer behaviour

stimulates the growth of commerce

and trade and thus helps in the

overall economic development of
the country.

(c) Interconnected devices give a lot of

~ comfort to home users and improve
the overall quality of life.

(d) Interconnected devices can be at

security risk and home users may

have privacy risk.

Passage—3

Green growth involves rethinking growth

ategies - With regard to the

impacts on
tr @ :
. ironmental sustainability and th
envl

tal resources available to poor
e In rethinking growth,
t reality of
Resource
gy intensive

environ
ups.

Inerable gro
and V! focus on the curren

we need 10 world.

resourcc-constramed

. s r ener
give and, 10 perticula way for mOre
inten ¢ will need 10 make
e
rocess

t
developmen
.ot and Tresource .
efﬁcxen

: d
) mic dea
ol
. . re 10 av
jes if we @
Strateg

a
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74. A Question

B TR e
énd qop . .
able 1o in\;rorld ' which only a small elite is
o] : .
of Poverty Y affluence In the midst of a sea
73. Which
o
best reﬂ:cssf the f0110wing statements
Passagep € crux of the above
(a) Enviro
iNimijeg  Dtal Sustainability g
achievip Ur - objective of

8rowth_ & higp

rate of Gpp
(b) Poverty e

S Not possible
€Conomj
Sonseque .o 8rowth

() Maintaining high
Standargs jq Now a
:':mhieving a steady,
Inclusive growth.

(d) With large po

€nvironmenta)
Prerequisite for
Sufficient and

Pulations,

rampant
boverty and  limiteq resources
of today’s world, environmental

degradation cannot be prevented
and inequalities are inevitable.

is given followed by two
Statements I and II. Consider the

Question and the Statements.
Question :

What are the unique values of
x and y, where x, y are distinct
natural numbers?

Statement-I : x /y is odd.
Statement-II : xy =12

Which one of the following is. corr;::;
in respect of the above Question

the Statements?

(@) The Question can
using one of the S,
but cannot be answe
other Statement alon¢

() The Question C

\ ment alone
using either Staten

be answered by
tatements alone,
red using the

an be answered by

75. A Question is

39

() The Question can be answered by
using  both . the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

given followed by two
Statements I and II. Consider the
Question and the Statements,

A certain amount was distributed
among X, Y and Z.

Question :
Who received the least amount?
Statement-] :

X received 4/5 of what Y and z
together received. ;

Statement-II :

Y received 2/7 of what X and Z
together received.

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

i be answered by
The Question can
K using both  the Statement:;
together, but cannot be answere
using either Statement alone

annot be answered

(d) The Question € AsS. Statements

even by using bo
together
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76. A ) ‘
tgti‘:‘m“ is given followed by two

Questig s I and Il Consider the
7 and the Statements.

If the
av .
are 6o, tﬁrage marks in a class

of student:r; What is the number
Statement_l . N the class?

marks from th

Change the ave
Wthh one of the
In respect of the
the Statements?

rage.

(a) The Question can be answered by

using one of the Statements alone
but cannot be answered using the

other Statement alone
(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the  Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements
together

77. A Question is given followed by two

Statements 1 and L Consider the
Question and the Statements.

There are three distinct prime numbers
whose sum is a prime number.
Question : \
What are those three numb_ers?
Statement-1: Their sum is less tha1.1 23.
Statement-1I : One of the numbers 18 5.

78.

Which one of the following is correct

in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,

but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using  both  the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question : Is (x + y) an integer?
Statement-I : 2x + y) is an integer,
Statement-1I : (x +2y) is an integér.

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using  both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered
even by using both the Statements

together

\P.’T.O.
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9 A Question is given followed by two

statements I and II. Consider the

Question and the Statements.

A person buys three articles p, g and r

for ¥50. The price of the article qis ¥ 16
which is the least.

Question :

What is the price of the article p?

Statement-I :

The cost of p is not more than
that of r.

Statement-II :

The cost of r is not more than
that of p.

Which one of the following is correct
in respect of the above Question and
the Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the

other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both _the  Statements
together, but cannot be answered
using either Statement alone

(d) The Question cannot be answered

even by using both the Statements
together

80. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

P, O, R and S appeared in a test.

Question :
Has P scored more marks than Q7?
Statement-I :

The sum of the marks scored by
P and Q is equal to the sum of the
marks scored by R and S.

Statement-II :

The sum of the marks scored by
P and S is more than the sum of
the marks scored by Q and R.

Which one of the following is correct
in respect of the above Question and
the Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the

other Statement alone

(b) The Question can be answered DY

using either Statement alone

(c) The Question can be answered by
using  both the Statements

together, but cannot be answered

using either Statement alone
(d) The Question cannot be answered

even by using both the Statement
together
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